[This question paper contains 5 printed pages]

Your ROIING. c.viseassmmsivmmsinsnes
K18 ) I = 2 1 o

Sr. No. Of Question Paper: 5430

Unique Paper Code: 12101403

Name of the Paper: Truth Functional Logic

Name of the Course: B.A (Hons.) Philosoph

Semester: v :

Duration: 3.5 Hrs.

Max. Marks: 75

Instructions for the Candidates

1. Attempt all questions.

2. Answers may be written either in ENGLISH or HINDI; but the same medium should be used
throughout the paper.
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L. (a) Determine the Validity/Invalidity of any one of the following argument form by Tru -
Table Method: '
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(b) Determine the logical status of any one of the following: (5)

Proffea 3 3 frd e ufeaf@ srer @ aifde fRufd it oY

[(peor]=[p2(q>1)]
- Or

[(poq>or]=[@>p)>r1]

2. (a) Symbolize any four of the following: 4
Profifed § 3 =l ar & ude! § ford|

(i) We will go if it does not rain. (G, R)
8 ST IS SRETd el et | (G, R)

(i)  He is neither hardworking nor intelligent.(H, I)
s Ad aRedt SR A IEHA 1 (H, 1)

(iii)  Not both Chetna and Dolly will win the game. (C, D)
a1 3R STeft Q1 @t &1 Sitel T (C, D)

(iv)  Argentina’s mobilising is a sufficient condition for Brazil to protest to the UN. (A,B
T # = Rl vafe R g fF sela g A A Ry X 1 (A, B)

(v)  Saudi Arabia buys 500 more warplanes and either Iran does not raise the price of o
and Jordan requests more US aid. (S, I, J)
TS 3R U TR IR Yo weTSl Wited g 3R 1 @ A daf b TH 61 Sgrar
IR & 3t AR Heg F fg FagT darg 1 (S,1,J)

(vi) It is not the case that if any metal is heated, then it will not expand. (M, E)

T TET & 5 g 1S urg TR B WY O ST TR T8 1 (M, E)

(b) Prove the validity/invalidity of any one of the following by Reductio-ad-absurdum
method: 5
RefFear-ts-usadn faft grr Faffea @1 dud/sdud Rig o

~p=~q/" (~q2~p)*(~p>~q)

OR
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3. (a) Rewrite the following into stroke function: 3)



PR & Qe v 1 5 3 e
~p>(q-1

(b) Define p = q in terms of negation and dot. 3)

p=q @ PRY (~) AR TG (+) FIRUIT B |

4. Construct a formal proof of validity of any one of the following by using suggested notation

(7
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(i) If either Socrates was happily married or else he wasn’t, then Socrates was a grea
philosopher. Therefore, Socrates was a great philosopher. (H, G)

afe a1 & g gy @ RaRa 3§ a1 98 76 4, @ 98 TP HeH aRiA® 4 | FH
GHId U HeH e 4 1 (H, G)

(i) ADB

CoD /' (A*C)y> (B+D)

3 Using the strengthened rule of Conditional proof, construct a proof of validity for any
one of the following: (6)
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Construct an Indirect Proof of any one of the following: (6)
PrafifEa & 3 fedt T 3t sie T B TEA IR

(D vE)o (F oG)
(~GvH) o(D *F)/ .-G
OR
A>B-C)
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Using Truth Tree Method test the validity/invalidity of any one the following:
(6)
=y & faftl 1 SudnT e PafiRd & ¥ Rt ae @ duc/siaue o wleu B

(A *B)oC

(~A>D)/ -.B> (CvD)
OR

(A vB)yo(C+D)

(DvE)oF/'- ADF

Translate any five of the following into the logical notation of propositional functions
and quantifiers: (5)

meﬁmmﬁ@ﬁaﬁ@ﬂﬁﬁwmmm—wmmﬁ
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(i) Nurses are always considerate.( ( Nx, Cx)

T Hea g BT AF A TR e § | (Nx, Cx)

(ii)  Reporters are present. ( Rx, Px) :

RO IUREE | (Rx, Px)

(iii)  No boy scout ever cheats. ( Bx, Cx)

FIE T1T-R 9¥E Tl © | ( Bx, Cx)

(iv)  Not every applicant was hired. ( Ax, Hx)

TR PIS AAgH Agad 781 3T | (Ax, Hx)
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)

(vi)

(vii)

Co

None but the brave deserve the fair. (Bx, Dx)

IR ¥ aifafkad oIk H1 ULEr S A TR & | (Bx, Dx)

Snake bites are sometimes fatal. ( Sx, Fx)

gi-Zx Fft Tt @RAB A ® | ( Sx, Fx)

Indians are rarely punctual .( Ix, Px)

R R g9 8 | (Ix, Px)

nstruct Formal Proof of validity of the following: (6,4)

PR 3 Yuar &1 SR THI TUR HY:

(@)

(i)

(iif)

All dancers are exuberant. All fencers are not exuberant. Therfore, all fencers are no

dancers. ( Dx, Ex, Fx)
il 5 Sofad e € | Wit JeaRas FHeilar T8 81 © | guie
TAIRET Ade -8l 21d &

(x) (Ax >~ Bx)

(3x) (Cx*Ax) /+(3x)(Cx*~Bx)
OR

(x) (Lx © Mx)

(x) Nx D ~Mx) /+ (x) (Nx > Lx)

Prove the invalidity of any two of the the following by constructing a model containing

of two individuals: (5+5)
2 SfEd A Hied sER Pafifed # ¥ e @ 3 e Fifed B
(i) (3x) (Bx*~Cx)
x) Dx>~Cx) /.- (x) (Dx> Bx)
(i) & (Px >~Qx)
(x) (Qx > Rx)
/. (%) (Rx * ~ Px)
(i) (x)(Hx 2Ilx)

(x) Hx © ~Jx)
/e (x) (Ix © ~IX)
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